1. Working with cliques:

a) How many cliques are there on the given graph?

b) Which neighbourhood relation on 13 vertices would result in the least possible number of cliques? What
is the number of cliques in that case?

¢) Which neighbourhood relation on 13 vertices would result in the maximum possible number of cliques?
What is the number of cliques in that case?

d) Draw a neighbourhood relation that results in exactly 20 cliques.
e) Is there any other way of representing the neighbourhood relation, other than an undirected graph?

f) Is there any neighbourhood relation relevant for the regions of Czech Republic other than the one based
on the common boundary?
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